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Question 1
Question Type: MultipleChoice

What belongs to the new requirement of PTN smooth evolution to support 5G bearer is (multiple choice, 4 points)

Options: 
A- SPTN deployment enhances business flexibility

B- Network Slicing Evolution: FlexE

C- Service Evolution: SR-TP/L3

D- Bandwidth evolution: 50/200/400GE

Answer: 
A, B, C, D

Question 2
Question Type: MultipleChoice



Which of the following core network functions are control plane functions? (Multiple choice, 4 points)

Options: 
A- Session management

B- Forwarding

C- Mobility Management

D- Policy Control

Answer: 
A, C, D

Question 3
Question Type: MultipleChoice

Which of the following statements about the advantages of Cloud RAN architecture is correct? (Multiple choice, 4 points)



Options: 
A- Device resource pooling

B- Adapting to Diversified Businesses

C- Network Elasticity Expansion

D- Business on-demand deployment

Answer: 
A, B, C, D

Question 4
Question Type: MultipleChoice

What are the possible networking solutions for 5G? (Multiple choice, 4 points)

Options: 
A- Opiton2



B- Option3

C- Opiton4

D- Option1

Answer: 
A, B, C

Question 5
Question Type: MultipleChoice

Which of the following key 5G technologies can improve network spectrum efficiency? (Multiple choice, 4 points)

Options: 
A- New channel coding

B- 256QAM Advanced Adjustment

C- Massive MIMO

D- Flexible subcarrier bandwidth



Answer: 
A, B, C

Question 6
Question Type: MultipleChoice

If a slice design is used for the meter reading IoT, which of the following functions can be considered for tailoring? (single-choice

question, 4 points)

Options: 
A- Device Management

B- Session management function

C- Mobility Management Functions

D- CDR function

Answer: 
C



Question 7
Question Type: MultipleChoice

Which of the following businesses needs to consider the design of sinking user interface? (single-choice question, 4 points)

Options: 
A- Mobile Internet

B- Video Surveillance Network

C- Mobile TV Network

D- Meter reading IoT

Answer: 
C

Question 8
Question Type: MultipleChoice



In the option 3X architecture, which of the following devices is the anchor point of the signaling plane? (single-choice question, 4 points)

Options: 
A- UPF

B- gNode B

C- eNodeB

D- SGW

Answer: 
C

Question 9
Question Type: MultipleChoice

Which of the following is the interface between SMF and UPF? (single-choice question, 4 points)



Options: 
A- N1

B- N2

C- N4

D- X2

Answer: 
C
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